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INSTRUCTIONS:

1) Attempt all questions.
2) All questions carry equal marks.

Q1)

1.1)  You are appointed as a project manager of a Nanotechnology project. The following table depict
the major activities, activity durations and predecessor relationships for completion of the project.
The table also depict the approved cost estimate for each activity.

Activity Duration Predecessor Approved Cost
(in Weeks) Estimate (in Rs 00)
A 2 20
B 2 A 24
C 6 A 30
D 5 A 25
E 4 B 16
B 4 D 20
- |G 2 C 10

The table below depicts the status report of the project at the end of week 6

Activity % Complete Actual Expenditure (in Rs
00)

A FINISHED 15

B FINISHED 20

C 80% 21

D 80% 18

E 50% 6

F 0%

G 0%

a) Develop a cost baseline for the project. Distribute cost over periods on pro rata basis.
b} Compute PV, EV, AC, CV, SV for each activity at the end of period 6.

c) Compute PV, EV, AC, CV, SV, CPI, SPI for the project at the end of period 6.

d) Comment on the health of the project at the end of period 6.

1.2)  Name various process groups as per PMBOK® by PMI.

(Marks 8+2=10)



=

Q2)

2.1) Charlie Cook has been designated as Project Manager for developing a new chemical
contaminant tracking machine. He identifies major project activities and is able to determine the
activity durations & precedence relationships for the project. Details are in table below:

Project Details: Chemical Contaminant Tracking Machine:

Activity Immediate Predecessor Time Duration (Days)
A ) 9
B A 7
C A 3
D B 6
E B 9
F C 4
G E,F 6
H D 5
1 G,H 3

a) Determine the critical path(s) and project completion time.
b) Determine Total Float for each activity.

2.2) You are the designated “Project Manager” for new product development for an automobile
manufacturer. Your project scope includes all work including from concept development to final
testing of prototype. Draw a WBS for the same. Make suitable assumptions regarding the project
scope.

” (Marks 6+4=10)

Q3)

3.1) Green India, an environment recycling company, needs to clean up a large trash dump under a
state environment clean up contract. The job includes separating steel and copper from other
debris. To complete the project, Project Manager has laid out the eight major activities involved in
the project. These activities have been labeled A through H in the following table, which also shows
completion times (in weeks) and immediate predecessors.

Activity | Predecessor | Pessimistic | Most Likely Optimistic
Time Time Estimate | Time
Estimate Estimate
A - 7 5 2
B A 3 2
C B 14 8 6
D B 20 10 6
E B 8 3 3
F C,D 10 5 4
G D 12 6 4
H E.G 16 6 5




L

a) Determine expected completion time of the project
b)  Determine probability to complete the project 2 weeks before its expected completion time.
c) Determine time to complete the project with a probability of 95%.
3.2) Explain NPV and IRR techniques of project selection.
(Marks 7+3=10)

Q4): Answer the following questions:

4.1) Differentiate between top down and bottom up project cost estimation. Discuss briefly different
activity cost estimation techniques.

4.2) Discuss strategies for managing positive risks in a project.

4.3) Discuss briefly the key skills of an effective project manager.
(Marks 4+4+2=10)
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